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Bl 71522 157,885 75507 82378 |RE&ILEI2T 972 2,195 1,079 1116
BREILATIT 1,895 3,958 1,733 2,225
BEKET1T 868 1,899 912 987 |BR B ILET4T 741 1,921 920 1,001
BEKET2T 350 859 406 453 5 4667 10,311 4,801 5510
1,218 2,758 1,318 1,440 |EE B2 ET2T 1,392 3,271 1,569 1,702
£ [ BT 8,034 19,458 9267 10,191 |E=E+~ ER1T 126 331 165 166
LtRERT 328 514 253 261 |R=E~EHRT2T 268 516 242 274
ItRERT2T 220 443 202 241 |R=E~ ERI3T 449 1,035 494 541
Lt RERST 289 523 289 234 |R=E~ EHRT4T 208 390 177 213
Lt RERT4T 160 288 144 144 [R=E+~ EHR5T 371 695 366 329
L RERST 135 281 136 145 | 1422 2,967 1,444 1,523
ItRER6T 101 247 125 122 | KZIRBT1T 752 1,723 815 908
Lt RERTT 79 184 88 96 | KEIFET2T 920 2,017 991 1,026
It RERST 112 210 111 99 5| 1,672 3,740 1,806 1,934
1,424 2,690 1,348 1,342 |FARERT 71 173 79 94
LFEAET1IT 204 440 205 235 |mERER2T 159 348 179 169
JtfEEET2T 1,101 2,505 1,198 1,307 (A RERIST 264 379 115 264
LFEAET3T 865 1,696 835 861 |FARERT4T 116 169 63 106
JtfEEET4T 883 2,001 994 1,007 (A RERIST 136 308 143 165
3,053 6,642 3,232 3,410 it 746 1,377 579 798
B AITET 3 3 2 1 (FafE BT 2,140 5,031 2,470 2,561
ERETET1T 611 1,581 792 789 = A<HT 252 471 247 224
ERATET2 T 315 753 365 388 |EEERMETTT 244 470 227 243
ERATET3T 321 782 377 405 |BE BERMET2T 455 950 475 475
1,250 3,119 1,536 1,583 (B E B RMMET3T 677 1,502 720 782
==Yl 1,008 2,230 1,058 1,172 (B E B HRMETAT 634 1,336 667 669
HERENT 232 483 228 255 |BE B RMETS T 689 1,679 807 872
HERE2T 418 737 326 411 B 2,699 5,937 2,896 3,041
HEREST 259 495 247 248 |EE EMEILET1IT 220 387 183 204
HERET4T 138 293 138 155 (B E BigdtET2T 398 844 414 430
1,047 2,008 939 1,069 |BE & B#EILET3T 534 1,088 531 557
HEREETT 1,658 3,395 1,558 1,837 |BE & B#EILET4T 558 1,188 578 610
HEREET2T 3,070 6,702 3,197 3505 (B EEHMILETS T 728 1,703 813 890
HEMET3T 3,169 6,396 2,888 3,508 B 2,438 5,210 2,519 2,691
HEMETAT 2,320 4,681 2,078 2,603 |EEBHEET1TT 973 1,964 934 1,030
HEMETST 1,242 2,695 1,303 1,392 (B E BiEAT2T 138 294 152 142
11,459 23,869 11024 12,845 |EHEEHET3T 2,192 4,641 2,241 2,400
HYERT1T 768 2,167 1,057 1,110 g 3,303 6,899 3,327 3,572
HYERT2T 518 1,320 653 667 |BEERZET 627 1,443 685 758
1,286 3,487 1,710 1,777 | B @ BfZET2T 477 1,035 492 543
=T 4 4 3 1| BEETZET3T 318 787 388 399
MEET1T 420 1,002 491 511 B 1,422 3,265 1,565 1,700
MmEET2T 302 760 366 394 |BEEEARETT 655 1,301 648 653
726 1,766 860 906 |BEEBEAMT2T 245 600 299 301
HAEETIT 742 1,953 944 1,009 (BEEARBIIT 1,029 2,836 1,388 1,448
HARET2T 219 482 232 250 B 1,929 4,737 2,335 2,402
RT3 T 711 1,535 758 777 |BEE BMEMETT 304 685 330 355
1,672 3,970 1,934 2,036 |BE BMEmPET2T 218 488 225 263
RKEIRAT 5286 12,132 5,917 6,215 |B & BMEmRETST 568 1,277 637 640
hREMT 266 540 253 287 5| 1,090 2,450 1,192 1,258
hRER2T 204 370 164 206 [\ Tt 93 202 96 106
hRER3T 235 515 244 271
hRERT4T 275 561 270 201
980 1,986 931 1,055
o A BT 558 1,171 557 614
hEEEET 548 1,157 534 623
hEEEET2T 771 1,308 612 696
hEEEET3T 436 1,085 515 570
hEEEET4T 655 1,377 673 704
hEEEETST 851 1,774 858 916
hEEEET6T 3,312 6,430 3,060 3,370
6,573 13,131 6,252 6,879
P =T 683 1,600 778 822
BAFBILATIT 1,059 2,237 1,069 1,168
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